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P6AW (plot by DAT)
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P6AW TsN1 (plot by DAT)
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P6AW TsN2 (plot by DAT)
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Days After Budding

P6AW TsN3 (plot by DAT)
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P6AW TsN4 (plot by DAT)
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P6AW TsN5 (plot by DAT)
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P6AW (plot by adjDAT)

[ )
i
I
I
| £
I
S 4
¢ |
| I
Lo
Y 1
1
=
“ “ =)
[ i ~
_|||4n
o .
— IIIIIII
g *
“ o ¢
| © 1 1
N % L3
[ |
I | 19 _
7= I
[ c
[ L5 .QW
IIIIIIL.|L.||‘__I__|I IIIIIIIIII P m oo o mm oo
1 I
I o o--e o
(- I 1 I 0
(- 1 1 1
1 “ ! 1 1
|
P! .04“ “
Lo o---lo
! | i!
L. Rt
I .ﬂ ! Y- ° =
| S ¥
I .%0 “ I
| " g
I B4 I
1 I | = *
IIIIIIIIIII I._ |
g
|
% m o
|H|O :
9 t--m---e
1] un
1] m
1] =
1] Ann
r_||4
o s
I 1
I 1
I 1
[ o
I 1
_.II"I IIIII P .m
1 ©
I @
IIIIII @ o
—
o o o o o o o
(o] Te] < m (q\] —

Buippng Jayy sAeq

Days After Transplant



Days After Budding

P6AW TsN1 (plot by adjDAT)
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P6AW TsN2 (plot by adjDAT)
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P6AW TsN3 (plot by adjDAT)
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P6AW TsN4 (plot by adjDAT)
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P6AW TsN5 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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